Future Brood Document 2007 Final CARLTON REARING POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SUMMER

Stock: METHOW & OKANOGAN

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	03/2008	EASTBANK HATCHERY	425,000	15.0	28,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	05/2008	400,000	10.0	40,000	JUVENILE	METHOW R 48.0007	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	425,000	28,333
Planted	400,000	40,000

Memo: Volitional release. Satellite facility of Methow Hatchery.

Future Brood Document 2007 Final CARLTON REARING POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SUMMER

Stock: METHOW & OKANOGAN

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP		Life Stage
Received	03/2009	03/2009	EASTBANK HATCHERY	425,000	15.0	28,333	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	400,000	10.0	40.000	JUVENILE	METHOW R 48.0007	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	425,000	28,333
Planted	400,000	40,000

Memo: Volitional release. Satellite facility of Methow Hatchery.

COLVILLE TRIBE
NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	GOLDENDALE HATCHERY	1,000,000			EGGS GREEN

Estimated Release Data

Start Date End Date Num Release FPP Total Pound Life Stage Release Site Mark Type	Start Date	e Num Release FPP	Total Pound Life Stage	Release Site	Mark Type Tagged
---	------------	-------------------	------------------------	--------------	------------------

	Total Number	Total Pounds
Shipping		
Receive	1,000,000	
Planted		

Memo:

COLVILLE TRIBE

NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: SOCKEYE

Run: NA

Stock: OKANOGAN R 49.0019

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped			AQUARIUM N CLASSROOM	100			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Enu Date	Mulli Kelease	LII	i otal i oullu	Life Stage	Kelease Site	Mark Type	Laggeu

	Total Number	Total Pounds
Shipping	100	
Receive		
Planted		

Memo:

COLVILLE TRIBE
NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: CUTTHROAT **Run:** WESTSLOPE

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2008	05/2008	CHELAN HATCHERY	50,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Date	Liiu Date	1 tuili ittitast	111	I van I vana	Life Duige	itticase site	Maik Lypc	Iagguu

	Total Number	Total Pounds
Shipping		
Receive	50,000	
Planted		

Memo:

COLVILLE TRIBE
NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received			EELLS SPRINGS	200,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Duit	Liiu Dutt	1 tuill iteleuse		I oui I ouiiu	Life Duge	Teleuse Site	man Lype	1 45504

	Total Number	Total Pounds
Shipping		
Receive	200,000	
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	FORD HATCHERY	55,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2008	06/2008	40,000	40.0	1,000	JUVENILE	CHELAN CO LAKES		
06/2008	06/2008	10,000	40.0	250	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	55,000	
Planted	50,000	1,250

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CUTTHROAT **Run:** WESTSLOPE

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

	Total Number	Total Pounds
Shipping		
Receive		
Planted	371,000	5,862

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
08/2007	08/2007	195,000	500.0	390	JUVENILE	KITTITAS CO LAKES		
08/2007	08/2007	15,000	500.0	30	JUVENILE	CHELAN CO LAKES		
08/2007	08/2007	50,000			EGGS EYED	CHELAN CO LAKES		
08/2007	08/2007	10,000	500.0	20	JUVENILE	OKANOGAN CO LAKES		
09/2007	09/2007	11,000	500.0	22	JUVENILE	DOMKE LK (CHEL)		
09/2007	09/2007	40,000	100.0	400	JUVENILE	TWIN LKS (1) (CHEL)		
03/2008	03/2008	40,000	10.0	4,000	JUVENILE	CHELAN CO LAKES	AD	
03/2008	03/2008	10,000	10.0	1,000	JUVENILE	LK CHELAN (47)		

	Total Number	Total Pounds
Shipping		
Receive		
Planted	371,000	5,862

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	FORD HATCHERY	100,000			EGGS EYED
Shipped	05/2008	05/2008	OMAK HATCHERY	50,000	60.0	833	JUVENILE
Shipped	05/2008	05/2008	COLUMBIA BASIN HATCH	10,000	60.0	167	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	3,000	81.0	37	JUVENILE	CHELAN CO LAKES		

	Total Number	Total Pounds
Shipping	60,000	1,000
Receive	100,000	
Planted	3,000	37

Memo: Triploids.

Tuesday, July 17, 2007

Page 10

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: GOLDEN TROUT

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	08/2007	08/2007	MOSSYROCK HATCHERY	12,000			EGGS EYED
Received	08/2007	08/2007	CALIF- FISH AND WILDLIFE	30,000			EGGS EYED
Shipped	09/2007	09/2007	TOKUL CR HATCHERY	10,000	400.0	25	JUVENILE
Shipped	10/2007	10/2007	NACHES HATCHERY	2,200	500.0	4	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
09/2007	09/2007	1,500	500.0	3	JUVENILE	YAKIMA CO LAKES		
09/2007	09/2007	1,500	500.0	3	JUVENILE	KITTITAS CO LAKES		

	Total Number	Total Pounds
Shipping	24,200	29
Receive	30,000	
Planted	3,000	6

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: KOKANEE

Run: NA

Stock: CHELAN (47)

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 250,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	200.000	200.0	1.000	JUVENILE	LK CHELAN (47)		

	Total Number	Total Pounds
Shipping		
Receive		
Planted	200,000	1,000

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2008	01/2008	LK WHATCOM HATCHERY	450,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	395,000	500.0	790	JUVENILE	KITTITAS CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	450,000	
Planted	395,000	790

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2007	10/2007	50,000	10.0	5,000	JUVENILE	FISH LK (CHEL)		
04/2008	08/2008	90,000	2.5	36,000	JUVENILE	CHELAN CO LAKES		
05/2008	05/2008	10,000	3.0	3,333	JUVENILE	OKANOGAN CO LAKES		
03/2009	04/2009	500	0.5	1,000	JUVENILE	CHELAN CO LAKES		
03/2010	04/2010	500	0.5	1.000	JUVENILE	CHELAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive		
Planted	161,350	51,033

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	SPOKANE HATCHERY	725,000			EGGS EYED
Shipped	12/2007	12/2007	ENTIAT NFH	2,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	160,000	85.0	1,882	JUVENILE	JAMESON LK (DOUG)		
05/2008	05/2008	120,000	65.0	1,846	JUVENILE	OKANOGAN CO LAKES		
05/2008	05/2008	60,000	65.0	923	JUVENILE	WAPATO LK (CHEL)		
05/2008	05/2008	145,000	75.0	1,933	JUVENILE	FISH LK (CHEL)		
08/2008	09/2008	50,000	5.0	10,000	JUVENILE	LK CHELAN (CHEL)		
09/2008	09/2008	15,000	5.0	3,000	JUVENILE	OKANOGAN CO LAKES		
11/2008	11/2008	15,000	2.0	7,500	JUVENILE	ROSES LK (CHEL)		

	Total Number	Total Pounds
Shipping	2,000	
Receive	725,000	
Planted	565,000	27,085

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2007	05/2007	EASTBANK HATCHERY	160,000			EGGS EYED
Shipped	11/2007	11/2007	TURTLE ROCK HATCHERY	152,000	12.0	12,667	JUVENILE

Estimated Release Data

Start Date End Date Num Release FPP Total Pound Life Stage Release Site Mark Type	Start Date	e Num Release FPP	Total Pound Life Stage	Release Site	Mark Type Tagged
---	------------	-------------------	------------------------	--------------	------------------

	Total Number	Total Pounds
Shipping	152,000	12,667
Receive	160,000	
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	FORD HATCHERY	15,000			EGGS EYED
Shipped	05/2008	05/2008	OMAK HATCHERY	5,000	100.0	50	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	6.000	60.0	100	JUVENILE	CHELAN CO LAKES		

	Total Number	Total Pounds
Shipping	5,000	50
Receive	15,000	
Planted	6,000	100

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: CUTTHROAT **Run:** WESTSLOPE

Stock: TWIN LAKES CR45.1140

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 775,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2008	05/2008	CASSIMER BAR HATCHERY	50,000			EGGS EYED
Shipped	05/2008	05/2008	NACHES HATCHERY	15,000			EGGS EYED
Shipped	05/2008	05/2008	GOLDENDALE HATCHERY	8,000			EGGS EYED
Shipped	05/2008	05/2008	MOSSYROCK HATCHERY	10,000			EGGS EYED
Shipped	05/2008	05/2008	EELLS SPRINGS	15,000			EGGS EYED

	Total Number	Total Pounds
Shipping	98,000	
Receive		
Planted	571,000	6,095

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	200,000	1,000.0	200	JUVENILE	LK CHELAN (47)		
08/2008	08/2008	195,000	500.0	390	JUVENILE	KITTITAS CO LAKES		
08/2008	08/2008	15,000	500.0	30	JUVENILE	CHELAN CO LAKES		
08/2008	08/2008	10,000	500.0	20	JUVENILE	OKANOGAN CO LAKES		
08/2008	08/2008	50,000			EGGS EYED	LK CHELAN (CHEL)		
09/2008	09/2008	11,000	200.0	55	JUVENILE	DOMKE LK (CHEL)		
09/2008	09/2008	40,000	100.0	400	JUVENILE	TWIN LKS (1) (CHEL)		
03/2009	03/2009	40,000	10.0	4,000	JUVENILE	LK CHELAN (CHEL)	AD	
03/2009	03/2009	10,000	10.0	1,000	JUVENILE	LK CHELAN (47)		

	Total Number	Total Pounds
Shipping	98,000	
Receive		
Planted	571,000	6,095

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	02/2008	02/2008	EELLS SPRINGS	220,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	50,000	10.0	5,000	JUVENILE	FISH LK (CHEL)		
04/2009	08/2009	90,000	2.5	36,000	JUVENILE	CHELAN CO LAKES		
05/2009	05/2009	10,000	3.0	3,333	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	220,000	
Planted	160,350	49,033

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	05/2008	EASTBANK HATCHERY	160,000			EGGS EYED
Shipped	11/2008	11/2008	TURTLE ROCK HATCHERY	152,000	12.0	12,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Ena Date	Tuili Kelease	1.11	I otal I otilu	Life Stage	Kelease Site	Mark Type	Taggeu

	Total Number	Total Pounds
Shipping	152,000	12,667
Receive	160,000	
Planted		

Memo:

Future Brood Document 2007 Final CHEWUCH ACCLIMATION

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: WASHINGTON - GENERAL

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	03/2008	METHOW HATCHERY	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	183,000	15.0	12.200	JUVENILE	CHEWUCH R 48.0728		

	Total Number	Total Pounds
Shipping		
Receive	183,300	10,183
Planted	183,000	12,200

Memo: Methow composite stock.

Future Brood Document 2007 Final CHEWUCH ACCLIMATION

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SPRING

Stock: WASHINGTON - GENERAL

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2009	03/2009	METHOW HATCHERY	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	183,000	15.0	12,200	JUVENILE	CHEWUCH R 48.0728		

	Total Number	Total Pounds
Shipping		
Receive	183,300	10,183
Planted	183,000	12,200

Memo: Methow composite stock.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK **Run:** SPRING

Stock: CHIWAWA R 45.0759

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2007	09/2007	EASTBANK HATCHERY	700,000	20.0	35,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	672,000	12.0	56,000	JUVENILE	CHIWAWA R 45.0759	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	700,000	35,000
Planted	672,000	56,000

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SPRING

Stock: CHIWAWA R 45.0759

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	09/2008	09/2008	EASTBANK HATCHERY	700,000	20.0	35,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	672,000	12.0	56,000	JUVENILE	CHIWAWA R 45.0759	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	700,000	35,000
Planted	672,000	56,000

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2007	11/2007	TURTLE ROCK HATCHERY	130,000	15.0	8,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	50,000	5.0	10,000	JUVENILE	CHIWAWA R 45.0759	AD	
04/2008	04/2008	76,000	5.0	15,200	JUVENILE	CHIWAWA R 45.0759		

	Total Number	Total Pounds
Shipping		
Receive	130,000	8,667
Planted	126,000	25,200

Memo: Volitional release only if space is available.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2008	11/2008	TURTLE ROCK HATCHERY	130,000	15.0	8,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	50,000	5.0	10,000	JUVENILE	CHIWAWA R 45.0759	AD	
04/2009	04/2009	76,000	5.0	15,200	JUVENILE	CHIWAWA R 45.0759		

	Total Number	Total Pounds
Shipping		
Receive	130,000	8,667
Planted	126,000	25,200

Memo: Volitional release only if space is available.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2007	10/2007	550,000	10.0	55,000	JUVENILE	GRANT CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive		
Planted	550,000	55,000

Memo: Receive eggs between January 15th to 31st. Released at 80-100 fpp.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: BROWN TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2008	05/2008	SPOKANE HATCHERY	25,000	100.0	250	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	23,000	100.0	230	JUVENILE	GRANT CO LAKES		
05/2008	05/2008	1,000	100.0	10	JUVENILE	ADAMS CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	25,000	250
Planted	24,000	240

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CUTTHROAT **Run:** LAHONTAN

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2007	10/2007	7,500	40.0	188	JUVENILE	ADAMS CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive		
Planted	7,500	188

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2008	05/2008	CHELAN HATCHERY	10,000	60.0	167	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	9,000	60.0	150	JUVENILE	GRANT CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	10,000	167
Planted	9,000	150

Memo: Triploids.

Tuesday, July 17, 2007

Page 31

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2007	10/2007	ELECTRIC CITY NP	50,000	20.0	2,500	JUVENILE
Shipped	10/2007	10/2007	MOSES LK NET PEN	100,000	20.0	5,000	JUVENILE
Shipped	10/2007	10/2007	POTHOLES RES NET PEN	150,000	15.0	10,000	JUVENILE
Shipped	10/2007	10/2007	COULEE CITY NP-BANKS	100,000	20.0	5,000	JUVENILE
Shipped	10/2007	10/2007	REG 3 ED COOPS	1,000	20.0	50	JUVENILE
Shipped	01/2008	01/2008	OTHELLO HS (OTHELLO)	800	10.0	80	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2007	10/2007	3,000	20.0	150	JUVENILE	FRANKLIN CO LAKES		
10/2007	11/2007	235,000	20.0	11,750	JUVENILE	GRANT CO LAKES		
03/2008	03/2008	2,000	3.0	667	JUVENILE	KITTITAS CO LAKES		
03/2008	04/2008	80,000	3.0	26,667	JUVENILE	GRANT CO LAKES		
04/2008	04/2008	7,600	3.0	2,533	JUVENILE	KITTITAS CO LAKES		

	Total Number	Total Pounds
Shipping	401,800	22,630
Receive		
Planted	327,600	41,767

Memo: Receive eggs as late as possible between Late March to April 15.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2008	01/2008	SPOKANE HATCHERY	775,000			EGGS EYED
Shipped	04/2008	04/2008	ELECTRIC CITY NP	80,000	50.0	1,600	JUVENILE
Shipped	04/2008	04/2008	COULEE CITY NP-BANKS	80,000	50.0	1,600	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	3,000	100.0	30	JUVENILE	FRANKLIN CO LAKES		
04/2008	05/2008	445,000	100.0	4,450	JUVENILE	GRANT CO LAKES		

	Total Number	Total Pounds
Shipping	160,000	3,200
Receive	775,000	
Planted	448,000	4,480

Memo: Receive eggs between January 15th to 31st. Released at 80-100 fpp.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPRING CR-GOLDENDALE

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	GOLDENDALE HATCHERY	300,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
03/2008	03/2008	249,000	100.0	2,490	JUVENILE	GRANT CO LAKES		
03/2008	03/2008	18,000	100.0	180	JUVENILE	ADAMS CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	300,000	
Planted	267,000	2,670

Memo: Receive eggs between December 1st to 15th.

Tuesday, July 17, 2007

Page 34

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STURGEON WHITE

Run: NA

Stock: COLUMBIA R -UPPER

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	07/2007	07/2007	SHERMAN CR HATCHERY	60,000			EGGS GREEN

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	4,000	4.0	1,000	JUVENILE	COLUMBIA R - GENERAL	PT	

	Total Number	Total Pounds
Shipping		
Receive	60,000	
Planted	4,000	1,000

Memo: Surpluss will be transferred to Spokane Tribe or EWU.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2008	05/2008	SPOKANE HATCHERY	40,000	100.0	400	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	38.000	100.0	380	JUVENILE	GRANT CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	40,000	400
Planted	38,000	380

Memo:

Future Brood Document 2007 Final COLUMBIA BASIN HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: CUTTHROAT **Run:** LAHONTAN

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2008	08/2008	OMAK HATCHERY	8,000	250.0	32	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	7,500	40.0	188	JUVENILE	ADAMS CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	8,000	32
Planted	7,500	188

Memo:

Future Brood Document 2007 Final COLUMBIA BASIN HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	01/2008	01/2008	OTHELLO HS (OTHELLO)	800	10.0	80	JUVENILE
Received	03/2008	04/2008	EELLS SPRINGS	950,000			EGGS EYED
Shipped	10/2008	10/2008	ELECTRIC CITY NP	50,000	20.0	2,500	JUVENILE
Shipped	10/2008	10/2008	MOSES LK NET PEN	100,000	20.0	5,000	JUVENILE
Shipped	10/2008	10/2008	POTHOLES RES NET PEN	150,000	15.0	10,000	JUVENILE
Shipped	10/2008	10/2008	COULEE CITY NP-BANKS	100,000	20.0	5,000	JUVENILE
Shipped	10/2008	10/2008	REG 3 ED COOPS	1,000	20.0	50	JUVENILE

	Total Number	Total Pounds
Shipping	401,800	22,630
Receive	950,000	
Planted	327,600	41,767

Memo: Receive eggs as late as possible between Late March to April 15.

Future Brood Document 2007 Final COLUMBIA BASIN HATCH

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	3,000	20.0	150	JUVENILE	FRANKLIN CO LAKES		
10/2008	11/2008	235,000	20.0	11,750	JUVENILE	GRANT CO LAKES		
03/2009	03/2009	2,000	3.0	667	JUVENILE	KITTITAS CO LAKES		
03/2009	04/2009	80,000	3.0	26,667	JUVENILE	GRANT CO LAKES		
04/2009	04/2009	7,600	3.0	2,533	JUVENILE	KITTITAS CO LAKES		

	Total Number	Total Pounds
Shipping	401,800	22,630
Receive	950,000	
Planted	327,600	41,767

Memo: Receive eggs as late as possible between Late March to April 15.

Future Brood Document 2007 Final COULEE CITY NP-BANKS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2007	10/2007	COLUMBIA BASIN HATCH	100,000	20.0	5,000 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	90,000	5.0	18.000	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	100,000	5,000
Planted	90,000	18,000

Memo: 4-7 fpp. Release timing dependent on size, water temp, feed availability, and spring rearing.

Tuesday, July 17, 2007
Page 40

Future Brood Document 2007 Final COULEE CITY NP-BANKS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2008	04/2008	COLUMBIA BASIN HATCH	80,000	50.0	1,600	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	70,000	20.0	3,500	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	80,000	1,600
Planted	70,000	3,500

Memo: 4-7 fpp. Release timing dependent on size, water temp, feed availability, and spring rearing.

Future Brood Document 2007 Final COULEE CITY NP-BANKS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	COLUMBIA BASIN HATCH	100,000	20.0	5,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	90,000	5.0	18.000	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	100,000	5,000
Planted	90,000	18,000

Memo: 4-7 fpp. Release timing dependent on size, water temp, feed availability, and spring rearing.

Future Brood Document 2007 Final DRYDEN POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	03/2008	EASTBANK HATCHERY	900,000	15.0	60,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	864.000	10.0	86,400	JUVENILE	WENATCHEE R 45.0030	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	900,000	60,000
Planted	864,000	86,400

Memo:

Future Brood Document 2007 Final DRYDEN POND

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2009	03/2009	EASTBANK HATCHERY	900,000	15.0	60,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	864,000	10.0	86,400	JUVENILE	WENATCHEE R 45.0030	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	900,000	60,000
Planted	864,000	86,400

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: CHIWAWA R 45.0759

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2007	09/2007	CHIWAWA HATCHERY	700,000	20.0	35,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Enu Date	Mulli Kelease	LII	i otal i oullu	Life Stage	Kelease Site	Mark Type	Laggeu

	Total Number	Total Pounds
Shipping	700,000	35,000
Receive		
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SUMMER

Stock: METHOW & OKANOGAN

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2007	10/2007	SIMILKAMEEN HATCHERY	600,000	25.0	24,000	JUVENILE
Shipped	03/2008	03/2008	CARLTON REARING POND	425,000	15.0	28,333	JUVENILE

Estimated Release Data

Start Date End Date Num Release FPF Total Pound Life Stage Release Site Mark Tybe T	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagg
---	------------	----------	-------------	-----	-------------	------------	--------------	-----------	------

	Total Number	Total Pounds
Shipping	1,025,000	52,333
Receive		
Planted		

Memo: A portion of these fish may be used for Colville Acclimation and may not be transferred.

Tuesday, July 17, 2007
Page 46

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2008	03/2008	DRYDEN POND	900,000	15.0	60,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

	Total Number	Total Pounds
Shipping	900,000	60,000
Receive		
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SPRING

Stock: CHIWAWA R 45.0759

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal 809,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	09/2008	09/2008	CHIWAWA HATCHERY	700,000	20.0	35,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Enu Date	Mulli Melease	TIL	i viai i vuiiu	Life Stage	Kelease Site	Main Type	Laggeu

	Total Number	Total Pounds
Shipping	700,000	35,000
Receive		
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SPRING

Stock: WHITE R 45.1116

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 1,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2007	10/2007	AQUASEED HATCHERY	1,000			EGGS EYED

Estimated Release Data

Start Date E	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
--------------	----------	-------------	-----	--------------------	------------	--------------	-----------	--------

	Total Number	Total Pounds
Shipping	1,000	
Receive		
Planted		

Memo: Transfer to Aquaseed Captive Brood Facility.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SUMMER

Stock: METHOW & OKANOGAN

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal 1,251,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2008	10/2008	SIMILKAMEEN HATCHERY	600,000	25.0	24,000	JUVENILE
Shipped	03/2009	03/2009	CARLTON REARING POND	425,000	15.0	28,333	JUVENILE

Estimated Release Data

Start Date End Date Num Release FPF Total Pound Life Stage Release Site Mark Tybe T	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagg
---	------------	----------	-------------	-----	-------------	------------	--------------	-----------	------

	Total Number	Total Pounds
Shipping	1,025,000	52,333
Receive		
Planted		

Memo: A portion of these fish may be used for Colville Acclimation and may not be transferred.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal 1,108,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2009	03/2009	DRYDEN POND	900,000	15.0	60,000	JUVENILE

Estimated Release Data

Start Date Linu Date Mulli Release Fil I dial I villu Line Stage Release Site Mark Type I ag	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	---------------

	Total Number	Total Pounds
Shipping	900,000	60,000
Receive		
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: SOCKEYE

Run: NA

Stock: LK WENATCHEE STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	08/2007	08/2007	LK WENATCHEE NET PENS	240,000			EGGS GREEN
Shipped	06/2008	06/2008	LK WENATCHEE NET PENS	210,000	85.0	2,471	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Duit	Liiu Dute	1 tuili ittitust		I oui I ouiiu	Life Dage	Teleuse Site	wan iye	145504

	Total Number	Total Pounds
Shipping	210,000	2,471
Receive	240,000	
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	12/2007	01/2008	TURTLE ROCK HATCHERY	260,000	12.0	21,667	JUVENILE

Estimated Release Data

Start Date End Date Num Release FPP Total Pound Life Stage Release Site Mark Type	Start Date	e Num Release FPP	Total Pound Life Stage	Release Site	Mark Type Tagged
---	------------	-------------------	------------------------	--------------	------------------

	Total Number	Total Pounds
Shipping	260,000	21,667
Receive		
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal 533,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	05/2008	05/2008	CHELAN HATCHERY	160,000			EGGS EYED
Shipped	12/2008	12/2008	TURTLE ROCK HATCHERY	260,000	12.0	21,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Duit	Liiu Dutt	1 tuill iteleuse		I oui I ouiiu	Life Duige	Teleuse Site	man Lype	1 45504

	Total Number	Total Pounds
Shipping	420,000	21,667
Receive		
Planted		

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Received	10/2007	10/2007	FORD HATCHERY	128,000	60.0	2,133 JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	06/2008	125,000	15.0	8.333	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	128,000	2,133
Planted	125,000	8,333

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: KOKANEE

Run: NA

Stock: LK WHATCOM STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	FORD HATCHERY	128,000	60.0	2,133	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	06/2009	125,000	15.0	8,333	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	128,000	2,133
Planted	125,000	8,333

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2007	10/2007	COLUMBIA BASIN HATCH	50,000	20.0	2,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	45,000	6.0	7,500	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	50,000	2,500
Planted	45,000	7,500

Memo: 4-7 fpp. Release timing dependent on size, water temperature, feed availability, and spring rearing.

Tuesday, July 17, 2007
Page 57

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	04/2008	04/2008	COLUMBIA BASIN HATCH	80,000	50.0	1,600	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2008	06/2008	78,500	25.0	3.140	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	80,000	1,600
Planted	78,500	3,140

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	COLUMBIA BASIN HATCH	50,000	20.0	2,500	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	45,000	6.0	7,500	JUVENILE	BANKS LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	50,000	2,500
Planted	45,000	7,500

Memo: 4-7 fpp. Release timing dependent on size, water temperature, feed availability, and spring rearing.

Future Brood Document 2007 Final ENTIAT NFH

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	CHELAN HATCHERY	2,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Date	Liiu Date	1 tuill ittitust	111	I van I vana	Life Duige	itticase site	Maik Lypc	Iagguu

	Total Number	Total Pounds
Shipping		
Receive	2,000	
Planted		

Memo: Transfer for National Fishing Weekend program.

Tuesday, July 17, 2007
Page 60

Future Brood Document 2007 Final LEAVENWORTH HATCHERY

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: LEAVENWORTH HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	1,225,000	18.0	68,056	JUVENILE	ICICLE CR 45.0474	AD	
04/2008	04/2008	400,000	18.0	22,222	JUVENILE	ICICLE CR 45.0474	AD	\checkmark

	Total Number	Total Pounds
Shipping		
Receive		
Planted	1,625,000	90,278

Memo:

Future Brood Document 2007 Final LEAVENWORTH HATCHERY

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SPRING

Stock: LEAVENWORTH HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 1,800,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	1,225,000	18.0	68,056	JUVENILE	ICICLE CR 45.0474	AD	
04/2009	04/2009	400,000	18.0	22,222	JUVENILE	ICICLE CR 45.0474	AD	✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	1,625,000	90,278

Memo:

Future Brood Document 2007 Final LK CHELAN SPORTSMAN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK Run: SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	WELLS HATCHERY	100,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
01/2008	01/2008	100,000			JUVENILE	LK CHELAN (47)		

	Total Number	Total Pounds
Shipping		
Receive	100,000	
Planted	100,000	

Memo: Triploid. Remote Site Incubator Project.

Future Brood Document 2007 Final LK WENATCHEE NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK **Run:** SPRING

Stock: WHITE R 45.1116

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	03/2008	LTL WHITE SALMON NFH	150,000	17.0	8,824	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	150,000	8.0	18.750	JUVENILE	LK WENATCHEE (CHEL)		

	Total Number	Total Pounds
Shipping		
Receive	150,000	8,824
Planted	150,000	18,750

Memo:

Future Brood Document 2007 Final LK WENATCHEE NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: SOCKEYE

Run: NA

Stock: LK WENATCHEE STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
11/2007	11/2007	200,000	15.0	13.333	JUVENILE	LK WENATCHEE (CHEL)	AD	✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	200,000	13,333

Memo:

Future Brood Document 2007 Final LK WENATCHEE NET PENS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: SOCKEYE

Run: NA

Stock: LK WENATCHEE STOCK

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 250,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped			EASTBANK HATCHERY	240,000			EGGS GREEN
Received	06/2008	06/2008	EASTBANK HATCHERY	210,000	85.0	2,471	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
11/2008	11/2008	200,000	15.0	13,333	JUVENILE	LK WENATCHEE (CHEL)	AD	✓

	Total Number	Total Pounds
Shipping	240,000	
Receive	210,000	2,471
Planted	200,000	13,333

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: TWISP R 48.0374

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2008	03/2008	TWISP ACCLIMATION PD	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	183,300	15.0	12.220	JUVENILE	TWISP R 48.0374		✓

	Total Number	Total Pounds
Shipping	183,300	10,183
Receive		
Planted	183,300	12,220

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: WASHINGTON - GENERAL

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2008	03/2008	CHEWUCH ACCLIMATION	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	--------

	Total Number	Total Pounds
Shipping	183,300	10,183
Receive		
Planted		

Memo: Methow composite stock.

Tuesday, July 17, 2007
Page 68

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SPRING

Stock: TWISP R 48.0374

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2009	03/2009	TWISP ACCLIMATION PD	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	183,300	15.0	12,220	JUVENILE	TWISP R 48.0374		✓

	Total Number	Total Pounds
Shipping	183,300	10,183
Receive		
Planted	183,300	12,220

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SPRING

Stock: WASHINGTON - GENERAL

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 718,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage
Shipped	03/2009	03/2009	CHEWUCH ACCLIMATION	183,300	18.0	10,183 JUVENILE

Estimated Release Data

Start Date Linu Date Mulli Release Fil I dial I villu Line Stage Release Site Mark Type I ag	Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
--	------------	-----------------	-------------	-----	--------------------	------------	--------------	-----------	---------------

	Total Number	Total Pounds
Shipping	183,300	10,183
Receive		
Planted		

Memo: Methow composite stock.

Future Brood Document 2007 Final MOSES LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2007	10/2007	COLUMBIA BASIN HATCH	100,000	20.0	5,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	05/2008	98,000	5.0	19.600	JUVENILE	MOSES LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	100,000	5,000
Planted	98,000	19,600

Memo: Target 4 - 7 fpp. Release timing dependent on size, water temperature, and feed availability.

Tuesday, July 17, 2007
Page 71

Future Brood Document 2007 Final MOSES LK NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	COLUMBIA BASIN HATCH	100,000	20.0	5,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	05/2009	98,000	5.0	19.600	JUVENILE	MOSES LK (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	100,000	5,000
Planted	98,000	19,600

Memo: Target 4 - 7 fpp. Release timing dependent on size, water temperature, and feed availability.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: EASTERN BROOK

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2008	05/2008	CHELAN HATCHERY	50,000	60.0	833	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2008	06/2008	25,000	60.0	417	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	50,000	833
Planted	25,000	417

Memo: Triploids.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: KOKANEE

Run: NA

Stock: PALMER LK (OKAN)

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 225,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	190,000	500.0	380	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive		
Planted	190,000	380

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	SPOKANE HATCHERY	425,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	275,000	90.0	3,056	JUVENILE	OKANOGAN CO LAKES		
09/2008	09/2008	75,000	15.0	5,000	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	425,000	
Planted	350,000	8,056

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: TIGER TROUT

Run: NA

Stock: FORD STOCK
Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	05/2008	05/2008	CHELAN HATCHERY	5,000	100.0	50	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
06/2008	06/2008	5.000	100.0	50	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	5,000	50
Planted	5,000	50

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: CUTTHROAT **Run:** LAHONTAN

Stock: LK LENORE LAHONTAN

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 600,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	04/2008	04/2008	OREGON- FISH AND WILFLIFE	75,000			EGGS EYED
Shipped	04/2008	04/2008	IDAHO -FISH & GAME	350,000			EGGS EYED
Shipped	08/2008	08/2008	COLUMBIA BASIN HATCH	8,000	250.0	32	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
10/2008	10/2008	55,000	60.0	917	JUVENILE	LK LENORE (GRAN)		
10/2008	10/2008	8,000	60.0	133	JUVENILE	GRIMES LK (DOUG)		
10/2008	10/2008	3,000	60.0	50	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping	433,000	32
Receive		
Planted	66,000	1,100

Memo:

Future Brood Document 2007 Final othello HS (OTHELLO)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2008	01/2008	COLUMBIA BASIN HATCH	800	10.0	80	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	750	5.0	150	JUVENILE	GRANT CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	800	80
Planted	750	150

Memo:

Future Brood Document 2007 Final othello HS (OTHELLO)

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2008	01/2008	COLUMBIA BASIN HATCH	800	10.0	80	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2009	05/2009	750	5.0	150	JUVENILE	GRANT CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	800	80
Planted	750	150

Memo:

Future Brood Document 2007 Final POTHOLES RES NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2007	10/2007	COLUMBIA BASIN HATCH	150,000	15.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	06/2008	145,000	5.0	29.000	JUVENILE	POTHOLES RES (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	150,000	10,000
Planted	145,000	29,000

Memo: 4-7 fpp. Release timing dependent on size, water temperature, and feed availability.

Future Brood Document 2007 Final POTHOLES RES NET PEN

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - ENHANCEMENT COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: RAINBOW

Run: NA

Stock: CALIF-MT WHITNEY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2008	10/2008	COLUMBIA BASIN HATCH	150,000	15.0	10,000	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	06/2009	145,000	5.0	29.000	JUVENILE	POTHOLES RES (GRAN)		

	Total Number	Total Pounds
Shipping		
Receive	150,000	10,000
Planted	145,000	29,000

Memo: 4-7 fpp. Release timing dependent on size, water temperature, and feed availability.

Future Brood Document 2007 Final REG 2 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK

Run: FALL

Stock: PRIEST RAPIDS (36)

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2008	01/2008	PRIEST RAPIDS HATCHERY	550			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Start Date	Enu Date	Mulli Melease	TIL	i viai i vuiiu	Life Stage	Kelease Site	Main Type	Laggeu

	Total Number	Total Pounds
Shipping		
Receive	550	
Planted		

Memo: Emerson Elem. School Coop. project and Saddle Mountain Intermediate School.

Future Brood Document 2007 Final REG 2 ED COOPS

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE - EDUCATIONAL COOPS NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	WELLS HATCHERY	250			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
Duit Date	Liiu Date	1 tuill ittitust	111	I van I vana	Life Duige	itticase site	Maik Lypc	Iagguu

	Total Number	Total Pounds
Shipping		
Receive	250	
Planted		

Memo: For SIC project at Northport School.

Future Brood Document 2007 Final SIMILKAMEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SUMMER

Stock: METHOW & OKANOGAN

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life	Stage
Received	10/2007	10/2007	EASTBANK HATCHERY	600,000	25.0	24,000 JUV	ENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	576,000	10.0	57,600	JUVENILE	SIMILKAMEEN R 490325	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	600,000	24,000
Planted	576,000	57,600

Memo:

Future Brood Document 2007 Final SIMILKAMEEN HATCHERY

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SUMMER

Stock: METHOW & OKANOGAN

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds Life Stage	
Received	10/2008	10/2008	EASTBANK HATCHERY	600,000	25.0	24,000 JUVENILE	

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	576,000	10.0	57,600	JUVENILE	SIMILKAMEEN R 490325	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	600,000	24,000
Planted	576,000	57,600

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	200,000	8.0	25,000	JUVENILE	COLUMBIA R - GENERAL	AD	✓
04/2008	04/2008	200,000	8.0	25,000	JUVENILE	COLUMBIA R - GENERAL	AD	✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	400,000	50,000

Memo: On station zero age release.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** SEGREGATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	10/2007	10/2007	WELLS HATCHERY	256,000			EGGS GREEN
Received	12/2007	12/2007	WELLS HATCHERY	1,331,000	1,200.0	1,109	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
07/2008	07/2008	628,000	55.0	11,418	JUVENILE	COLUMBIA R - GENERAL	AD	✓
07/2008	07/2008	450,000	25.0	18,000	JUVENILE	COLUMBIA R - GENERAL	AD	<u>~</u>
04/2009	04/2009	200,000	8.0	25,000	JUVENILE	COLUMBIA R - GENERAL	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	1,587,000	1,109
Planted	1,278,000	54,418

Memo: On station zero age release.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	11/2007	11/2007	CHELAN HATCHERY	152,000	12.0	12,667	JUVENILE
Shipped	11/2007	11/2007	CHIWAWA HATCHERY	130,000	15.0	8,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	200,000	4.5	44,444	JUVENILE	WENATCHEE R 45.0030	VIE	

	Total Number	Total Pounds
Shipping	130,000	8,667
Receive	152,000	12,667
Planted	200,000	44,444

Memo: Approximately 50% of brood transferred when space is available at Chiwawa.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: WENATCHEE R 45.0030

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	01/2008	01/2008	EASTBANK HATCHERY	260,000	12.0	21,667	JUVENILE
Received	11/2008	11/2008	CHELAN HATCHERY	152,000	12.0	12,667	JUVENILE
Shipped	11/2008	11/2008	CHIWAWA HATCHERY	130,000	15.0	8,667	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	200,000	4.5	44,444	JUVENILE	WENATCHEE R 45.0030	VIE	

	Total Number	Total Pounds
Shipping	130,000	8,667
Receive	412,000	34,333
Planted	200,000	44,444

Memo: Approximately 50% of brood transferred when space is available at Chiwawa.

Future Brood Document 2007 Final TWISP ACCLIMATION PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: TWISP R 48.0374

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	03/2008	METHOW HATCHERY	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	183,300	15.0	12,220	JUVENILE	TWISP R 48.0374		✓

	Total Number	Total Pounds
Shipping		
Receive	183,300	10,183
Planted	183,300	12,220

Memo:

Future Brood Document 2007 Final TWISP ACCLIMATION PD

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SPRING

Stock: TWISP R 48.0374

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2009	03/2009	METHOW HATCHERY	183,300	18.0	10,183	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	183,300	15.0	12,220	JUVENILE	TWISP R 48.0374		✓

	Total Number	Total Pounds
Shipping		
Receive	183,300	10,183
Planted	183,300	12,220

Memo:

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	320,000	10.0	32,000	JUVENILE	COLUMBIA R - GENERAL	AD	✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	320,000	32,000

Memo: Mitigation is for 56,200 pounds of total production. Follow broodstock protocol.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal 3,000,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	10/2007	10/2007	TURTLE ROCK HATCHERY	256,000			EGGS GREEN
Shipped	12/2007	12/2007	LK CHELAN SPORTSMAN	100,000			EGGS EYED
Shipped	12/2007	12/2007	TURTLE ROCK HATCHERY	1,331,000	1,200.0	1,109	JUVENILE
Shipped	12/2007	12/2007	REG 2 ED COOPS	250			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	242,000	50.0	4,840	JUVENILE	COLUMBIA R - GENERAL	AD	✓
06/2008	06/2008	242,000	25.0	9,680	JUVENILE	COLUMBIA R - GENERAL	AD	✓
04/2009	04/2009	320,000	10.0	32,000	JUVENILE	COLUMBIA R - GENERAL	AD	\checkmark

	Total Number	Total Pounds
Shipping	1,687,250	1,109
Receive		
Planted	804,000	46,520

Memo: Mitigation is for 56,200 pounds of total production. Follow broodstock protocol.

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: RAINBOW

Run: NA

Stock: SPOKANE HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	12/2007	12/2007	SPOKANE HATCHERY	225,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
05/2008	05/2008	125,000	70.0	1,786	JUVENILE	OKANOGAN CO LAKES		
04/2009	04/2009	1,500	2.5	600	JUVENILE	PIT LK (DOUG)		
04/2009	04/2009	38,500	2.5	15,400	JUVENILE	OKANOGAN CO LAKES		
04/2009	04/2009	1.000	0.5	2,000	JUVENILE	OKANOGAN CO LAKES		

	Total Number	Total Pounds
Shipping		
Receive	225,000	
Planted	166,000	19,786

Memo:

Future Brood Document 2007 Final Wells hatchery

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STEELHEAD **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	130,000	6.0	21,667	JUVENILE	OKANOGAN R 49.0019	AD+VIE	
04/2008	04/2008	320,000	6.0	53,333	JUVENILE	METHOW R 48.0007	AD+VIE	

	Total Number	Total Pounds
Shipping		
Receive		
Planted	450,000	75,000

Memo: Released 4/15 - 5/15 at 4-8 fpp. In Okanogan Basin, split between Okan. and Similkameen R.

Future Brood Document 2007 Final Wells hatchery

WASHINGTON DEPARTMENT OF FISH AND WILDLIFE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY **Integrated/Segregated:** INTEGRATED

Estimated Brood Data

Egg Take Goal 840,000

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Shipped	03/2008	03/2008	WINTHROP NFH	125,000			EGGS EYED
Shipped	05/2008	05/2008	RINGOLD SPRINGS HATCHERY	250,000	700.0	357	JUVENILE

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	130,000	6.0	21,667	JUVENILE	OKANOGAN R 49.0019	AD+vie	
04/2009	04/2009	320,000	6.0	53,333	JUVENILE	METHOW R 48.0007	AD+VIE	

	Total Number	Total Pounds
Shipping	375,000	357
Receive		
Planted	450,000	75,000

Memo: Released 4/15 - 5/15 at 4-8 fpp. In Okanogan Basin, split between Okan. and Similkameen R.

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2006

Species: CHINOOK
Run: SPRING

Stock: WINTHROP HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	600,000	18.0	33.333	JUVENILE	METHOW R 48.0007		✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	600,000	33,333

Memo: Includes Leavenworth stock also.

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: CHINOOK
Run: SPRING

Stock: WINTHROP HATCHERY

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal 660,000

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	600,000	18.0	33,333	JUVENILE	METHOW R 48.0007		✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	600,000	33,333

Memo: Includes Leavenworth stock also.

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2007

Species: STEELHEAD **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive Start Date End Date Facility Number FPP Total Pounds Life Stage

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2008	04/2008	100,000	7.0	14.286	JUVENILE	METHOW R 48.0007	AD	✓

	Total Number	Total Pounds
Shipping		
Receive		
Planted	100,000	14,286

Memo:

U.S. FISH AND WILDLIFE SERVICE NORTH CENTRAL WASHINGTON

Brood Year: 2008

Species: STEELHEAD **Run:** SUMMER

Stock: WELLS DAM (47)

Brood Origin: HATCHERY

Integrated/Segregated:

Estimated Brood Data

Egg Take Goal

Estimated Transfer Data

Shipped or Receive	Start Date	End Date	Facility	Number	FPP	Total Pounds	Life Stage
Received	03/2008	03/2008	WELLS HATCHERY	125,000			EGGS EYED

Estimated Release Data

Start Date	End Date	Num Release	FPP	Total Pound	Life Stage	Release Site	Mark Type	Tagged
04/2009	04/2009	100,000	7.0	14.286	JUVENILE	METHOW R 48.0007	AD	✓

	Total Number	Total Pounds
Shipping		
Receive	125,000	
Planted	100,000	14,286

Memo: